Strcton of Decimals

"9 Solve the calculations using a written method. >

a) b)

29 Use a mental method to answer each calculation. Then, check the answer. >

a) £3.50 - £1.10 = e) £5.20 - £2.10 =

b) £4.30 - £2.10 = f) £9.40 - £3.30 =

c) £6.50 - £2.30 g) £7.60 - £2.50 =

d) £4.20 - £1.40 h) £4.60 - £1.30 =
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Subtracion of

138 I saved £17.50 and spent £13.64 in the shop. How much money do I have left? )

4% 1 spend £16.25 at the shop. How much change do I get from £207? )

5% 1 have a piece of ribbon which measures 6.75 metres. I cut 2.65m from the ribbon
and then chop another 1.25m off. How much ribbon do I have left from the original piece?
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- “Subtraction of Decimals’ =

115 Solve the calculations using a written method.>

a) 1 b)

2% Use a mental method to answer each calculation. Then, check the answer. >

a) £14.50 - £3.25 = e) £61.25 - £10.17 =

b) £9.50 - £2.25 = f) £34.75 - £13.26 =

c) £57.45 - £12.20 = g) £25.51 - £11.25

d) £26.35 - £16.12 = h) £86.25 - £44.12
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Subtraction' of

I had £150. I spent £122.54 in the supermarket. How much change did I
receive?

4% One clock costs £14.90 and another clock costs £7.75 in a clock shop.
What is the difference in price between the two clocks?

559 A TV costs for £365.99 in Mr Green's shop. Mr Shah is selling a TV for £425.89 in
his shop. What is the difference in price between the two TVs?
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> Stracton Gﬁ___ =

11" Work out the calculations>

a) ] b)

25 Use a mental method to answer each calculation. Then, check the answer. >

) £14.50 - £3.25 = e) £61.25 - £10.17 =

b) £9.50 - £2.25 = f) £34.75 - £13.26 =

c) £57.45 - £12.20 = g) £25.51 - £11.25

d) £26.35 - £16.12 = h) £86.25 - £44.12
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SubtractionYofq

3% Shannon £324.56 in her purse. She spends £223.89 in the supermarket. How
much money does she have remaining?

One TV costs £567.89 and another TV costs £398.99 in a superstore. What is the
difference between the prices of the two TVs?

Ferdinand has a length of rope which is 78.95 metres long. He uses 14.32m on
Monday. On Tuesday, he uses another 26.54 metres. How much does he have left?
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Work out the calculations.

Answers

a) b) £161{8]5 c) 915 | 4
- -1 £[449 |5 71615
£11{9 |0 1:8|9
d) e) £l 21615 f 9{8]|5
- - £(1¢r3 | 4 21912
£|1113]|1 693
9) h) £l 74143 i) 512 |4
- -1 £]13t5|4 1t11| 4
£13:8]|9 411 |0
h R) £11]3}3 1) 116109
- - | £ 5¢% 2 918
£1811 £(7¢t1
2.
a) £2.40 e) £3.10
b) £2.20 f) £6.10
c) £4.20 g) £5.10
d) £2.80 h) £3.30
3. £3.86
4, £3.75
5.2.85m
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Answers

Work out the calculations.

1.
a) cl1l2}e6]|3 b) sl1|74}4]2 <) g£l21718]09
- £ 8712 - | = 41516 -lel1]|8)9]2
£(13(9]|1 £|l1]|2(8]|6 £(8/9]|7
d) cl7]l6}6]|2 e) cl2l6{7]6 f £|8|2}8]3
- s 919 |8 -lsl1]|a{8]|5 -lels5]|al7]09
£l6|616]|4 £|l1]1}t9]1 £|/2|810|4
g) cle6|312 h) cl2|8t9 |5 i) cl1le|716]3
-legl1]|9{5]|5 -lsgl1]6t8]09 - | 8|5¢t4 |5
£la4|317]2 £|l1/2}t0]6 £|/8|211]8
h cl1|2(317]|8]k slslal|l7]{3]2]) |3 |4a|512]|8
-l s 7181216 -|lgl2]|5|8]2]|s5 -lel2]3]2}3]9
£|l4|5)5]2 £/2(8|9{0]|7 £|l1]1|2{8]|9
2.
a) £2.30 e) £2.10
b) £2.10 f) £2.40
c) £6.20 g) £4.35
d) £3.40 h) £2.55
3.£27.46
4. £7.15
5 £59.90
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Answers

Work out the calculations.

1.
a) £19 (4|3 |4 b) £l4|3]5]6 c) £17(15413|2
-1 £]|18|9)2]|5 -l £]12|6}7]8 - £]|5|6}5]|9
£|15/(0]|9 £|1|6]7]|8 £11|8{7]|3
d) £11(2(3L4]|8]e) £13|4|2{6]|5]F £15|0|2}6]2
-| £ 6 | 567 -| £ 9191112 -l €123 |4}1]6
£|15|7{8]|1 £ 2|4(3}(5|3 £ 2|6 |814|6
g) £l4|6|113]|2]|h) £15|4|0}1]2]i £l 132177
-l £l1|4]|2}2]6 -1 £]2|3|6}F8]1 - | £ 8|3 Fp6]8
£(3(1(9{0/|6 £(3(0(3}3|1 £|14(9}0]|9
i) £11(0|4}3]|4]k £l216|5}1 (2] £l 24312
- | £ 6512 |4 - | £ 9|1 8}2 |4 -1 £]112|3}4]|5
£13|19{1]9 £|1/6|6}:8|8 £|11(1[(916|7
2.
a) £11.25 e) £51.08
b) £7.25 f) £21.49
c) £45.25 g) £14.26
d) £10.23 h) £42.13
3. £100.67
4, £168.90
5. 38.09m
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